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1.Which description correctly describes Git? 
A. Git is a command line utility for creating archives of files 
B. Git is a web-based responsibility for sharing files 
C. Git is a configuration management tool that automates provisioning 
D. Git is a version control system for tracking changes in files 
Answer: D 
 
2.For which two reasons do you choose L2TPv3 over other technologies for a VPN solution? (Choose 
two) 
A. The VPN solution should support Frame Relay to Ethernet pseudowrite connections. 
B. The VPN solution should be industry standard. 
C. The VPN solution does not contain MPLS on the network core. 
D. The VPN solution requires multipoint Ethernet LAN service 
E. The VPN solution should tunnel Layer 2 frames and Layer 3 packets 
Answer: B,C 
 
3.You are designing an 802.1x solution for a customer where the network supports a large number of IP 
phones and printers. You plan to configure MAC address bypass for the phones and printers. 
What is your primary concern related to authentication? 
A. additional AAA traffic on the network 
B. placement of the AAA server 
C. potential of MAC address spoofing 
D. scaling of the database that stores the MAC addresses 
Answer: C 
 
4.Which design consideration is true regarding BFD? 
A. BFD must not be used with RSVP-TE backup tunnels. 
B. BFD does not support sessions over MPLS LSPs 
C. Using echo mode may reduce convergence time. 
D. BFD can only support one session per protocol on the same link 
Answer: C 
 
5.What are two key design principles when using a hierarchical core-distribution-access network model? 
(Choose two) 
A. A hierarchical network design model aids fault isolation 
B. The core layer is designed first, followed by the distribution layer and then the access layer 
C. The core layer provides server access in a small campus. 
D. A hierarchical network design facilitates changes 
E. The core layer controls access to resources for security 
Answer: A,D 
 
 


